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Final Results
Correct answers are in bold

NN MAIwNN 92 NX 1IAD NYXY Y12 125 nw

? Perl X0 naw 5w o X (1
Implicit Memory Management 94.92% (a
Interpreted 84.75% (b
Statically Typed 1.69% (c
Weakly Typed 93.22% (d

?D"PIN D'NANN 12N ,Strongly Typed N'nw nawa (2
george = 'woman' 96.61% (a
sum =5+ ‘3.14159' 1.69% (b
duplicates = ‘beaker *5 (c
output = ‘42’ + ‘85’ 84.75% (d
NN NIXR NN QR (e

We did not take off or give points for answer (c) . There are some languages where this is legal; such
as perl, where it means to duplicate the string N times

20PN D'R2NN 19N ,Statically Typed N'nw nawa (3
double c; ¢ = 30.0; 100% (a
stringa; a=12.3;3.39% (b
a=5;b="single’;result=(a>5)?a:b;23.73% (c
M NIRNAWwNnaN  (d

Answer C is incorrect because in a statically typed language, result must already have a type of either
string or integer. You cannot select its type on the fly. That would be true in weakly typed language.
Statically typed languages are by definition Strongly typed

?0'212) D'X2ANN 19K ,Duck Typinga (4
D19D 1NN M2 DN DX NNNYN M1 DN DINwn 16.95% (a
NN 1212 DNOY D19ON NN DY NAYn DX NP M2 DN DINwn 49.15 (b
DWAVIN DN DX NRNYN M2 DN DUNwn 847% (¢
)0 NN NAwn X 33.90% (d

200101 D'NANN DN, pNan NMar M oy nava (5
NIOM NN RO DY N (a
DINPNY N2 MXPNY 02N 74.58% (b
MO " NOT'w1ON" XY 1.69% (¢
11215 garbage collection Yw w52 nmx w2 10.17% (d
N2 NIK NN 9N 20.34% (e

In languages like C, specifying “int foo;” allocates space for that variable on the stack or in the data
area. Its still explictly allocated



2"y (Regular Expressions) D111 oM wnnd 10 (6
(DFA) '0DPIMIVT NP VMDIX 84.75% (a
(NFA) WDNMMNIDT-RY 19D VMDIN 84.75% (b
A MNNON 74.58% (¢
Java 61.02% (d
NN NIXR NN N (e

You can implement a regular expression parser in any of these languages. Recall that all of them are
turning equivalent! You can implement an NFA in a DFA and you can certainly implement either of them
in Java

WTIN2 PN D1 NNMY M%7 M0 N2Y v 001Tnnd (7
1 (a
3 (b
N1 98.31% (c
Mwarmbanr (d

2MP1-KY NN MNINND P DMRNN D'RIAN DMIO%N DMLIANN IR (8
/017* (a
/A[10][01]*$/ 96.61% (b
/7 (0|1)+$/ 86.44% (c
/MO[01]+)](1[10]+)$/ 40.68% (d

D is incorrect because it does not match the single character binary strings 1 and 0

? /(abc\|xyz)?/ 151211 ML12O MNRNN MXIN MNP IR (9
abcxyz 44.07% (a
abc 42.37% (b
abc\|xyz 52.54% (c
N2) NN NN 9N 44.07%  (d

Recall that ? matches zero of more times. So in particular, it matches the empty string and hence it
matches any of these strings

?8aN Mpn yop paT nn (10

$string = “Pi is 3.14159”;
$string =~ /.*(\d)+/;

print $1;
3.14159 1.69% (a
141596.78% (b
4159 (c
159 (d
59 (e
983.05% (f

NN MR NN AR 8.47% (

«Q

? /[a-zA-Z]+[*,]=/ 1191200 0125 MNRNIN MXAN MNINNNINAOK (11
BBB,B=a 6.78% (a
bbb,=ba 5.08% (b
B9=alla 81.36% (c
FIdD1E7h=a6.78% (d
Brittle,=a 6.78% (e
Other.=a91.53% (f



2735101 ML MNRNN MK MNP IR (12
/no longer (the )+ (knights )? (who |say )*nee/

no longer the knights nee (a

no longer knights who nee (b

we are no longer the knights who say nee (c
no longer the who nee (d

no longer the say nee (e

no longer the knights say nee (f

? "T2521 "M295K-KD 1N2 MN1TNDNY MMY" DRA1a DRAN DM%10N DMLann I (13
I[*a-z]$/i (a

INa-z]$/i (b
%columbus Mw]$/i (c
a-z).*$/i (d
IW]$/i (e

?TMTOWTDI nr mn (14

Perl-2 Nnanow pwi nown  (

“There's more than one way to do it” - Perl bwwnn (
"Too many things to worry the detail in” - Perl 5w myan  (
nN22 MY Nowanwn  (

o 0T

?Perl — 2 (hash table) "2'UXXIDKX 7IYN DI2WVN NINWN AXN ND DX (15
$ (a
@ (b
% (c
& (d

?Perl — 2 @vector — 5 nan xR (16
&@vector (a
$@vector (b
*@vector (c
\@vector (d

? hash-n nY2vn 1492 Nnann S 7Iyn DX 22p) 'K Perl -2 (17
$columbus['1492"

(a
$columbus{'1492} (b

%columbus{'1492'} (c
$columbus->{'1492'} (d

?'a1"..'’b1" :nmwn 1rnn nn Perl -2 (18
'a1''b1" (a
'a1''a2''a3','a4,'a5','a6','a7','a8','/a9",'b0",'b1" (b
syntax NXNY (c
N2 NIXR NN N (d

There is no operator with three periods in Perl. You are confusing it with the double period operator ..
which would return option B

782N yupn DA NN ,70 XN grade Nanwnn 71V oK LPerl -2 (19

print 'Your grade is $grade’; Your grade is $grade (a
Your grade is 70 (b

Your 70 is $grade (c
Your 70 is $70 (d



?Perl — 2 (*) backtics — 2 wnnwnd nx1 XY nrnnd (20
AWANY NN DNA wnnwnd 1x1 (a

Unix—2 T2y R>nr (b

Windows -2 TnWw RO Nt (c

(portable) 5220119 122X AXIWND NTIPaN Y (d

This works in both UNIX and DOS, but the operations are not portable

?0mp "file" WA Y21 p DN MpNa MNXAN MMpann 19N ,Perl -2 (21
-d “ile” (a

-e “file” (b

-f “file” (C

exists(“file”) (d

?mp3 '¥2p2 MaN Sw N2y wann Perl S )1mn nrx (22
MP3::Info (a
Music::MP3 (b
File::MP3 (c
Perl -2 N2 ;M X (d

2MpPNN YTNN DK DIYY XD 210 "MIdN ann arm (23
2W MPN DN YIND IWwWark mnwoTd (a
ywmmmpnan (b
MIPNN YTINN NN YPOHPN XY Mpa nNaww » 12 (¢
Swramrred (d

?(D"2NRD PRYININ) PN 1K X2n Python Mpn nnd (24
def perm(1l):
for i in range(len(l)):
s = 1[:i] + 1[i+1:]
(indented) nnrn NNY NN XD NIPRIN NN (a
nnnn M N2 navn nwn (b
MIYN NMYN S Myna7n MK DNnNn Mo N2y wdwn nwn (c
mnTpn (d

This is tricky, but matches the definition of Python. You must start a function at the first column unless it
is part of another construct (such as a class). Hence you need A and then the second line must be
indented past the first column in any case

?82AN MpNn Yup pAaT NN (25
def testme(a):
a[l] = 10
print testme ((1,2)) [1] 1 (a
2 (b
10 (c
(immutable) M'wY 1N 12X (1,2) ¥ Dwn XN INTA Dwon Mepnoan  (d

?Python - 2 (null) 1 LINORS DN N) 'R (26

(a

nil (b
Nil (c
null (d
Null (e
none (f
None (g



;NI TP YLP MY INN baz nanwnn Yw o1y nn nn (27

foo = “vacation”
baz = foo[l]+foo[-1]
v (a
228=118+110 (b
an (c

207=97+110 (d
NI 1 D" yopn (e

?NAN TpNn Yup AT Nn (28

result = 0
for val in range(5):
result = result + val
print result 5 (a
10 (b
15 (c
N pr o N Mpn (d

?Python -1 2/3*9 v an 7w ann (29
0 (a
6 (b
9 (c
0.074 (d

?(0>1pwn oMvan NX 1N1) Python - 2 o5pw on o'xamm M (30
a<=b and b<=c (a
a<borb<c (b
a<=b<=c (c
a<=c (d
c>b>a (e

?Python - 2 Nyn D2ama 'K (31
# This is a comment (a
{ This is a comment } (b
// This is a comment (c
;; This is a comment (d
?N2N Mpn yop paT N (32

p = “000011”

print str(int(p)) 0 (a

000011 (b
1 (c
nw "N mpn (d

?RIN MPN YoP VXA MINK a dYw 10y ann (33
mydictionary = {2:3, 1:2}
a = mydictionary[3] (a
(b
(c
(d
(

O WN =

Non
XM 10T NINY PNt 5"N TMpi

J

e



?N2IN Tpn Yup D aMM NN (34

a=0

def func():
a=1
print a,
func2()

def func2():
print a,

print a,
func()
print a

?NIN Mpn yvp AT NN (35
a= (1,2)
b =a

int == b), is b
print (a Yoo (ais ) True True (a

True False (b
False False (c
False True (d

}(hNX Y3 'R 2) DN MONY

?N2N Mpn yvp a1 nn Perl -2 (36

$line = “I wAnt full CRedit for tHIS quESTion”;
$line =~s/\b(\w) (\w+)/\u$1\1$2/g;

print $line; | wAnt full CRedit for tHIS quESTion (a
| want full credit for this question (b
i want full credit for this question (c
| WANT FULL CREDIT FOR THIS QUESTION (d
| Want Full Credit For This Question (e
N NN MAawNNN NNRaR- (f

“FANt*?2\n\s+.*?2\n” 17500 ML1AY D'RNN AN Mpn yop (37
?Python -1 Y11 X\ain DRN

if True:
print 'This code will run.'
print 'Or maybe not? '
12 (a
N> (b

The regular expression says that the second line may not be indented with the same number of spaces
or tabs and hence it may not be correcly indented and will not run



